
qm=;= ;]jfsf] lsl;d b/ kl/df0f s'n hDdf s}lkmot

!
l;g]dfxn, lel8of]xn, ;fF:s[lts k|bz{gxn, ly|P6/ ;+lut tyf

dgf]/~hg k|bz{g   :ynsf] k|j]z z'Ns
k|b]zn] lgwf{/0f u/] adf]lhd 0 0

@ hfb', ;/sz, r6s, cflb k|b]zn] lgwf{/0f u/] adf]lhd 0 0

hDdf 0

qm=;

=
;]jfsf] lsl;d b/ ?= kl/df0f s'n hDdf s}lkmot

! cUnf] ;fOgaf]8{, l8lkP; af]8{ 2 500 1000

@ jfn k]G6 lj1fkg k|lt j=lkm 5 500 2500

# Jofg/ -a9Ldf Ps dlxgf ;Ddsf] nflu_ k|ltuf]6f  300 5 1500

hDdf 5000

s|=;+= hUUffsf] If]qkmn b/ kl/df0f hDdf s}lkmot

! rf/ lsNnf k|dfl0ft ug]{ 200 500 100000

&=3/ gS;f kf; b:t'/ 

l;=g+

=
ljj/0f b/ ?=÷a=lkm= kl/df0f s'n hDdf s}lkmot

!= 9nfg 3/ lgdf{0f -kvf{n ;d]t_ 

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ 

If]q
3 600000 1800000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 2 500000 1000000

@= sRrL 3/ kvf{n  ;d]t -l6g, 9'+ufsf] 5fgf_

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ 

If]q
1 20000 20000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 0.5 20000 10000

$=
gu/kflnsf x'g' eGbf cuf8L lgdf{0f u/]sf] gS;fkf; ubf{ -

dfkb08 cg'?k lgdf{0f ePsf] ePdf dfq_

g=kf=sf] j8f g+= $, %, ^, sf] ;dtn If]q / cGo j8fsf ahf/ 

If]q
0.5 400000 200000

dfly pNn]lvt afx]s g=kf=sf cGo j8fx? 0.1 400000 40000

^= gS;f gjLs/0f jfkt 500 3 1500

3/ gS;f gfd;f/L kSsL -Psf3/_ 200 3 600

3/ gS;f gfd;f/L kSsL -Psf3/ gePdf__ 1500 2 3000

sRrL 3/ -9'+ufdf6f]sf] hf]8fO{ h:tfsf] 5fgf_ gS;f gfd;f/L 100 1 100
sRrL 3/ km';sf] 5fgf ePsf] jf ;fdfGo 3/ jf 6x/f gS;f 

gfd;f/L
50 20 1000

em'k'8f 3/ gfd;f/L 20 10 200

$=  dgf]/~hg s/ M –

  lj1fkg s/sf] b/ aflif{s M

^= rf/ lsNnf k|dfl0ft

%= lj!fkg s/ M 



c:yfoL 6x/f lgdf{0fsf] Ohfht b:t'/ 1000 3 3000

hDdf 3079400

*= Plss[t ;DklQ s/ M 

qm=;+

=
d'NofÍsg /sd -? df_ b/ kl/df0f s'n hDdf s}lkmot

! ?= ! nfv ;Dd 100 1000 100000

@ ?=  ! nfv b]lv % nfv ;Dd 300 1750 525000

# ?=  % nfv b]lv !) nfv ;Dd 500 1700 850000

$ ?=  !) nfv b]lv !% nfv ;Dd 1000 1500 1500000

% ?=  !% nfv b]lv @) nfv ;Dd 1500 950 1425000

^ ?=  @) nfv b]lv #) nfv ;Dd 2500 100 250000

& ?=  #) nfv b]lv $) nfv ;Dd 3500 50 175000

* ?=  $) nfv b]lv %) nfv ;Dd 4500 50 225000

( ?=  %) nfv b]lv *) nfv ;Dd 7500 30 225000

!) ?=  *) nfv b]lv ! s/f]8 ;Dd 9500 20 190000

!! ?=  ! s/f]8 b]lv ! s/f]8 %) nfv ;Dd 11500 10 115000

!@ ?=  ! s/f]8 %) nfv b]lv @ s/f]8 ;Dd 12500 10 125000

!# ?=  @ s/f]8 dfyL k|ltxhf/ ? @ yk 14500 7 101500

hDdf 7177 5806500

lgodn] tf]s] jdf]lhd x'g]5 .

!)=b08 hl/jfgf 

l;=g+

=
ljj/0f b/

!= Tff]lsPsf] z'Ns, b b:t'/, s/ ;DjGwLt jif{df gj'emfPdf klxnf] jif{ !)Ü h/Ljfgf - -

@=
Tff]lsPsf] z'Ns, b:t'/, s/ ;DjGwLt jif{df gj'emfPdf bf];|f] jif{ 

cluNnf] jif{sf] yk z'Ns, b:t'/, s/  ;lxt
bf]>f]] jif{ @)Ü h/Ljfgf - -

gf]6M dfly pNn]lvt x'g 5'6 x'g uPsf Joj;fox?nfO{ Joj;fosf] k|s[lt x]/L pNn]lvt ljifo;+u 

d]n vfg] lsl;dsf] b/df ?= !)).– b]lv %))).– ;Dd lng] . 

l;=g+

=
ljj/0f b/ kl/df0f hDdf

!%= 7"nf pBf]u l;kmf/L; 10000 1 10000

!^ demf+}nf pBf]u l;kmf/L; 5000 3 15000

!& ;fgf pBf]u -Ans–O§f cflb_ 1000 10 10000

hDdf 35000

(=cGo 3/ hUuf /lhi6«]zg, pBf]u Jofj;fo btf{, ;xsf/L btf{, nufotsf z'Ns tyf b:t'/ ;DjlGwt If]qut P]g, 


	बिविध कर



